
�	�����	∃�6�7�	����6�7�����8�
�����6�∀�	������	∃

�����������9������;�+
�����4+�))∗,�6�4+�))∗∗

�����������9�����
<��������	

���∋����������	�	����!

�������	∃��
���
����
������	��
��������!�������	����

7���������������	��������������∃�����∃��
=����!������?	�≅��

������������������������������

�����!!�������

��
���������	��
�����



Α�1+�+)11���
�� ������	����
!∀

�����Β�����Χ��	�!���	���������Β���������
;������
9���∃�	∃��	��;��!�����	∃�����������
∆!�����Φ�	∃ � ���!������	� � ;�������

9���∃�	∃�	 � �	� � Β����������	�	 � �	�
Γ�∃������ �#��
�!��<�
�	���� ������
������	�
��	��
�∃�	∃�������������
�� ������	���
�
!∀��

����	������Η	����	∃�	����!������	��

��� � ��∃��� � ��������� � Ι� � ���� � �
 � �����
��!�������	 � 
�� � !� � ���������� � ���
���	�
�������	��	��
��
����!���	��
��	�Χ�
�������	�� � �� � 
����	����Χ � �	�����	∃�
����������	∃Χ������������������
�����	��	�
�����	∃�
��
���
�� ������	����
!∀�

��!Γ�����������	�����
���
������	��

���� � ������ � �?����?�Χ � �	 � ����������� � ����
���������������������	���������

����	���	���
ϑ�� � �� � ���������	� � ����� � ����������	 � ���
�����������	������ϑ���ϑ���
��
��ϑ������
�����	?���������8�������?�����������������?�
��
�� ������	����
!∀��

������?���������
���
������	������	�ϑ����

�����������	�����!������	��Ι�����������Φ��
��!������� �
�∃ ������	 ����
�	�∃������∃��
��∃����∃�	��
����	!����∃�
����Χ�Φ�	����
�����
∃��	�� � �����
����Γ�� � ������

�	∃�
��	����
�� ������	����
!∀��

����	��������ΓΦ�∃�	∃�	�����!������	�

�

�

�

�

�

�

�

�

� ∋������ (

�  	∃���� 1.

� #��	Κ��� (,

� Ι������	�� ,1

�

�



���� ����	
�

�
����	������
�
�	

�� ��
	�������������������������������������������������������������������������������������������

�� ��
�������	��
���	�����������������������������������������������������������������������

�� ��
�����
����
���������
����������������������������������������������������������������!

�� ∀�
#��∃
�������������������������������������������������������������������������������������%

�� &�
�
�	
�������
�����������������������������������������������������������������������∋

(� ��
�)��	������	�∗∗�
+���
������������������������������������������������������

,� ��
�������
	
����−�
������������������������������������������������������������������

!� .��
#��	�������∀�����	�
������������������������������������������������������������(

%� /���
�����#�0��
������������������������������������������������������������������������,

�∋� �/�1∃
2∃�∗��0�	��#�0��
������������������������������������������������������������!

��� ��#�0��
��
�����3∃4����
��5����3�
����
�����������������������������������!

��6
#��	����������������������������������������������������������������������������������������������

)�	�6
#�
�	7��
�8∀�����9���������������������������������������������������������������������

:
	
���		7��
���8∀�����9����������������������������������������������������������������������

:
	
���		7��
���8∀�����9����������������������������������������������������������������������

�
����7��
�8∀�����9������������������������������������������������������������������������������

8�����
���+�	������∗�4����	���

�
��
�����4�2�∗�����9

�������



����	
� ����

�����
	����

�������������	��
�����
��������������

����:
�����
�����2����
�
�	
��������	��+��∗�	�
����
��
��	�
�����
���
�
;�	�∗∗�
+�����	�)��	����	��
��+��∗���
+����
����
	������	�2������
�
)��	���
	��)��∃������∗�����∗�;�	�∗∗�
+�����	�)��	����	�+���

�
�
∃��� � ��
 � )��	���
 � �
 � )�����+ � 
��∗�
< � ��	�
 � ��� � ���	� � :
�����
��
�∃��	�0
�������
�<�+�	∃
���	�������
�������	��
���	���
����
�:+	
�
����
6+�������∀�����∗����
�#����
��
������
�)�	������
���������		�
���

<�
��	 � ��� � +��
���
 � ∗6		�
 � �
� � ���∗����
 � �����
� � ∀�����< � ����
∗�

�∗���
���∗��������:�2��
������������+���+�
�	�
��

)������
 � ��� � ��� � :
�����
� � 	∃��20���� � ��2< � ��∗�� � ��� � 	70��� � +���
���
������
������
��
������������∀�
#��∃
	20���#�������	�����
�#�

�
��
�∃����
 ���� ���
 �)��	��� �∃��� ���
 � 2������
 �)��	���
 ��
 ���
� ��
�����
=��	∃
���������+�
<�	∃���+�
�������
������:
�����
��∗���

��	����
��	�������������
��

�������� � �	� � 26� ���
���
	��� � �
 �>∃����+��
�
����
 ��
�	7��
��
����
�
)�	��∗∗�
��
����	���:
�����
���∃���	���
��?������
�����/�+���
���	��

�
���+�	��∗∗�
�	��∗0−��
��26������∗������	����	�/���
����
	7��
�	�

��� � ���� � �	� � 
�
�� � ��26� � +�	��∗∗�< � �∃
 � 1�
���
 � �
��� � �� � ?����
�
��	�∗∗�
���
��≅�∃������
��+������������
�

;�∗ � +�	��∗∗�
�	��∗0−�
 � /�+���
� � ������ � ��
� � ��	 � Α�	�
< � ����
	����
��
��)�2∃���
����	���:
�����
���

����
��	�����������������

1∃
��∃������
�����
�
����∗�:�	7�
#�
���
�Α��2���∗2�
�Β��

� ��
�)��	���<�+�	����
����	�	0∗���
��
��
�������6
#��	�����2��26����
�
)�������
��
����
���=����
��∃���

� ��
�∀������)��	���
<

� ��
��:
�����
��

�������



���� ����	
�

��� ������∀�����������

;�∗�;�	�∗∗�
+�����	�)��	����	�+�
�����
����Β

� ��
�
����#��∃
�#���#∃�+�
�8��
�	��
	��∋�5���9�∗����6

����7������
��
��
�
�:+����	�0
����∃������
������������Α��	����∃
<�

� ��
�
�:+	����2��<�Α�77�
�∃�����
���∗∗<�

� ��
�������+�	�0
�����Χ
�������<�

� ��
�
�#���
�
������
	
�
�������
����
��:+�	∃������
��<

� ��2����
��=�
�������
����
��∀��
���
��<

� ���#��∃
�#�Α����

�8∗����
�	��∋<��∗∗����
�∗�		��9�

;�∗�&�	��
���	�)��	���
	�+�
�����
�������
��5��
���

;�∗�:
	
���		���	�)��	���
	�+�
�����
�����Α����
�	��������∗72∃���
���
∆���	
�
���Β�Ε�∋<��∗∗Φ�26�������:
	
��6		���

�����
�������	��
���	�

∀������	�����������
���

:+��#
�7	�� � Α����
 ��
� ���0��� � #�

�
 � 	
���2� ��7����
 ���+�
� ����	�
#�

�+����
�
��	�∗�∗�;�����2�
����4�����������
��
�26���
��:
���
�
����������+��∗�;�����2�
���2�	
���2���7����
��

��
��+��� � )�	
�0����
��
 � �
 � )�������
 � #�

�
 � �� � �
#��#�����+���
�
/�20����
��
 � 26���
� � )���
 � ��� � +�	
�0����� � )������� � 
�
�� � ��
<�
	∃
���
��
�	∃���
�����	���2�
�����
����
����	����
�����	������
��
����

#������	�����������
���

� )��6���
��
�����7�

�
��	����
����&����<

� )��6���
�����20������&����<������∗�∀�����2�����
�����7�

�
��	����
<

� 1���	
��6		���
��:
	
���		��
�
�
������0		�����7�

�
�<

� �
���0		����∃���Α�2�2��
����#�����
��)����
���∃
�1∃
��
	��		���

#�

�
 � �� � ��20����
��
 � 1��7��	���∗�
 � �
� � ��∗�� � �� � ��������
��
�
26���
��)����
��������	���/�2�����∃�<� �
��∗���������2∃���
��
�>�−�

��∗�
����
�26���
Β

�������



����	
� ����

� ∀6���
 � ��� ����������
�	��+����
 � 
�� � �
 � 	7�

�
�	�∃	�∗�;�	��
��
���
��

� ∀6���
 � ��� � ��� � ;�	�∗∗�
+��� � �
� � ��
+����+����
 � 
�� � �
�
��	
��∃		�
�
<�	��+���
��
����∃
#�
�
�30�∗�
����
������∗����
�
�����
�������:�+���	�∗��+�
��∀��
����#���<�Γ0		���
���7������		���

� ���	∃���
�������	�/��0��
���∗���1���
	7�

�
����∗0−�:
��+�� �
�
��
���
�
�	
��
�����
�������
��
�������26����		
����−��
����7�62���
�
��������		�
��&��
	2∃�∗��∃��
�

� ���
#�
���������Γ���	��
#�� ��∃
�&��
	2∃�∗��∃��
 ��
��Α��#∃�+�
�≅�
Α��	����∃
�
 � 
�� � �
 � 2�
�����
�� � �
	��������� � �
� � �+��	�
������
�
��#∃	��
#�∃	�
�

� :
���
 � ��� � +��∗ � 4��	�����
 � ���#���	
��� � ���+�
��
��
 � ��2 � ��	�
���
��
��
�Α����
�	Η���	
�
����

� Γ�
������)����
���∃
�1∃
��
	��		��������
������∃����
�:�+����
�
+�	���������
��
�:##��∗���	����
�������+��

� �����
��
 � ��� � +�� � 3�7��������+����
 � ��		
����−��
� � Ι����
���
��	���������

������������
��

5�

���� ����−� �Α��#∃�+�
	7���� �∗�� �+��

+���∗�>������� � �
 �1∃
��#��
#∃∗∗�<��
�	�������
�)��
������ ����	�� �#�

������
�∗�∀�����26���
�
�
����∗��������������
�	���
��Α�+�
	��2�������
�����+��

�
���
��
3��
������2��
������
#�
�������
�Γ���	��
#�����	�Α��#∃�+�
	�∃��������
Α��	����∃
�
����0���
������;�����
��������
#�∃	�<��0���
��������������
	0
���
������
��4����
���������Α��#∃�+�
	7������∗∗���	�
�����∃
�+��

�
+���∗�>���������
�2��
���)�
����
�������
�
������
���
�:+����	�0
�����
Α�		�
�������
����−�
�Α��#∃�+�
�
����
+���2	�
�����������
�

∃�����	�����������
���

5�

 ���� � ���	���
���
� ���� ����−� � Α��#∃�+�
	7���� �∗�� � ����� �4��� � �
�
)��6���
��+��
��
< �∃��� ���

� ��
�
 �2�6		���	 �Α����

 ���2 ���� �4����
	7�����<�+�	���������/�2�����∃
�4������+��

�
��
��)����
��������	���
/�2�����∃�<��
��∗����

������(



%

���� ����	
�

� 26�������:�+������
�������+�	�0
�����Χ
��������+�
����
<

� ��
�Α��#∃�+�
�
�����2���
�∗������
���
�:+����	�0
�����+����
<

� +��∗�Α���
���2�	�
�����∀6���
������Α��	7������
���
��
�

� 2�6		���	�Α����

�∗�����
�∗���
#�
�2��
���
�Α�77�
�∃�����
���∗∗�
�∃
�����Α��	7������+	����2�
�

&����
��	∋�������
�����

��
� � �� � #���
�< � �
�����
��� � :�+���	2�0
�� � �
� � +��
��� � 3��∗����
�0��
�		��#�

�
�������	���
���
��∗�:�	��	�
��∃
�4������+��

�
��
�
∃����∀�����26���
��)����
��������	���/�2�����∃�<��
��∗�������
����	�
���
��
����∃−�<���2���0�∗���:�+���	2�0
���∗�������
�����
�)�����
�	�
2����������
��
���
�

()�	������������
�����

1�
����#�

�
���	�Χ
�
��	�∗#����∃����∗�
���
��∗�����
��∃���
�	�
+���		�	��
���������∃��+�	
����+�
�
�/�20����
��
������	�
��
��Χ∗�
/�2����26��Α��+��
��Α�+�
�������∗����
<��6�2�
�1�
�����
�������?����
�
)��	0����
�
�����	�∗∗�
+���
��
��2�������/��0���
�
�����
+���
�

���� ���������(��∗

1���
#�
��� � #�

�
 � ��� � ��∗ � &��� � 	��� � #���
�
 �)������� �∗�� � 	7����
�
������
��
 � ���	
���
#�
� � Α�+�
	��2���ϑ � Α�		�
 � ��� � ��� � )��������
��	���+�
�
����
�����40
����∃
�1���
#�
���
�����
��
�

�
 � �
����
< � :�	+����
�	��
��
���
��
< � 4∃++Κ� � �
� � ���+	����2����#�
	�0���
��	������;�	�∗∗�
+��<�������
+����
����	�)�����+�
��∃
�)���
���77�
����
����	
�����	�=��	∃
�������
��∃����
�����6+����
��
�

�
 � �����+��
��
 � ��
��
���
��
 � 	�
� � ��� � Χ
2�������6��
�	�∃�	
���2��
�
��	 � ���+�
��	 � ��� � �����+��
��
 � )���2	��
∃		�
	
��2��
 � 26� � ���#�
���	
���:
����
��
��)�����+	∗���������+��
���
�

������,



%

����	
� ����

�����
�����
����
���������


���������(��∗

)����
	�
���∗0−�∗�Α���
�#�

�
�/�2����
����
��4������
��∀�����
�
�	����
�����∗����
�����	∃�
���/�2����
Β�Α�	�
��
��+�2∃���
 �����
��	�1�7�����(���������	������	���
����	���:
�����
��

� �����
��
 � ��� � ��
�
 � #���
�
 � Α��#∃�+�
 � ∗�� � ��
�	��
	 � �∋ � 5����
4������	��
��∃������
������������Α��	����∃
��

� �����
��
�����
������#��∃
�#�Α����

�∗�����
�∗�∀��		∗������

� �����
��
�����+��∗�Α���
��∃
����#��∃
�	
��
��
�����
��
�
���Α���
��		���∃��� �Α��2��������	���
������
���
���0���< �����)���������
��
Α�����+��
�
����	�����

� ���
#�
 � ��� � ��� � :
	
���		��0��� � ��� � )������� � 	∃ � ���� � ��� � ∃�
��
1��2���2��
��∗����
�����
������)∃���
��
�����=����
�������1��7���
��	�)������	�	∃���	�
����
���6+�������=����
��+�2�
��
��

� :
���
������∃����∗���
����
��
+���
�����2�������
������=∃��
������
)���������

� Α���
������6���Β ����
����� ��
��	�Α���
������
 �)������� ����	������
:�
��26�����	���∗�:+��	�
�����Α������
�∃����1�72��+��
�
�

� 4����
 � ��� � ��� � Α��	7���� � 	∃ � ��2 � ��� � Α��	�����< � ��		 � 	�� � ������
��
)�������������
��Α�������+��6�����∀6���
���������
��������8
�
������
����9�Α����

������∃+������	�Α����

����2���−�
�+���

�<�
��∗�
�����
�	��∃
�����Α��	������2∃������

������
�����
∃
����
�
�:���
+��
#<�+�	�
��	 � ��2��
��+���+�
� � Α����

 � ��� � ������2�
 � �	�< � +��∃� � ��� � ��
�
Α��#∃�+�
��∃
�����Α��	�������+
��∗�
�

� )�����
�������	�	∃�+�
����������)����������������#�
��
���
��
�
����

� �∃���		����
��26����
����
��
�2�����Α��	����� ��
������	�Α���
� �	��
��
� � 	��+���< �
�
�� � ∃ΛΚ������ � 8��
���2����9 � Α��	7����� � �����2�
 �����
�������∃��Μ���∗�Α���
�6+��2�6		���	�Α����

��
���
�∗����∗�����
�∗�
2��
���
 � �
���∗∗< � ��
�∗ � ��
#�
 � 2��
���
 � Α�77�
 � ∃��� � ��
�∗�
����#∃
�:+	����2����+�

������!



���� ����	
�

� 1
�7	�
 ���� �
�
� ���∗�Α���
 ���� �:
	
���		��0��� �����#� �6+�� �����
Α��	������∗�����
�∗������
	
�
�������+�

� 1∃
��∃������
�����
�
����∗�)�	�6
#�
����
�	0����
��Μ�����
�����
��

∃
����
∗��������2��
<�∃+������)����������
�������
��	������
����7∃���
	�
�� � =�62�
 � ��� � ��
�< � ∃+ � 
�
�� � ���	���
���
� � :
	
��6		� � ∃����
Α�����+��
�
�∗���;�

�6+��+�6
#�������
����	�#�

�
�
���
�������
∀���2�
#��∃
< � 	∃
���
 � ��
� � ��� � ;��	����
� � �∃
 � �����
 � )�������
�
26���
������#�

�
�6+��	����
��	�Α����

�∗�������	��+���
����−�
�
Α��	7�������
�������2�6		���
����	�Α����

�2���−����

��∃
�����=����
��
��2�����Α��	7�����

���∀�
#��∃


�����
�������	�0�#���	�����������
������26����	�Χ∗����
���
���5��
���∗���
�∃77��	7���
�
����+��������26��
�����
	�����+����Β�

� �
�����
�	
�����0
�����5��
��
�����	��#�

�
��
�+�0
�����∃
�����
Α��	��
����	�&��2∃	���	
������������
��

� /�∗��
	�∗�	��
�����
�∗��������5��
��
�����	�������
�Μ�����	��
�
��
�
 � ����
�
 � �
�������	�0�#�� � �
��	
��∃		�
 � �
� � #�

�
 � ��

�
��∗��
	�∗�∗�����	���
�	��∗7��	�	���	
������������
�

�����
�������	�0�#���2�
#��∃
����<���∃+������
2�
��������	�����<�������
�
)�������0�Β � ��� � ���#���	
�� � Α���
�< � ��� � ��∗ � �
�����
 � ��� � 5��
���
��2∃������
���	�<�������
���
�∗����#��∃�Κ��1∃
��
	��∃��8��#∃9���	7��
�����

�����
�����∃���
�������6+�����
�
�&��
	�	�∃����	����	�<�	∃+������
���
��� �+����
 ���
�0
���#��������� �∗�� �>�		� � ���+�
��
 ������ �Χ∗���
�
��2∃������
��
�>�		�#∃
��#�������	�����
<�#�

���
�&�	���<��
����7���<�
�
��������	�∃�0����
��	����������
��5��
��
��
∃����	�
����∗�:�	��	�
�
��	��
�����∃���
�	�
�
��������
����

������%



����	
� ����

���&�
�
�	
�������


���	∃���
�		7�

�
� �(�������∃���/���
���∃����
5�
�	��	7�

�
�

���∃∗��2
��∗��8∃�
��
�
��	
��∃		�
�����+���
���9�
∗�Λ�

�∋∋�∗:

>�Λ�����∃∗�7�∃�:�	��
� ��∋∋∋�∗:

�
������� �=�∋∋

Χ∗��+�
�	��∗7��������∗�)�����+ ∋�����Ν(∋�Ο.

Χ∗��+�
�	��∗7�������
+���Α�����
�

��∋�����Ν!∋�Ο.

;��0		�������������Α�2�2��
����#��� ∗�Λ��!��Π

:+∗�		�
������=����
��8
��9 ���Λ��,�∗∗

/���
��������
�����
��8
��9 �∋<���

�������∋



���� ����	
�

(����
�)��	������	�∗∗�
+���
�

���	�
 � :+	
�
��� � #�

�
 � ��� � 6+��	7��
��
< � ��

 � ��� � ��
�
 � ∀������
)��	���
�∃������
�∀������/��0�����∃�+�
���+�
��

+)�������
��

Α���
 � ��� � ��� � )������� � 	∃������ � �∃� � 	�
� � ��2 � ��
 � :�+���	7����� � ����
���	
�����
�
�)����������+�
�2∃���
���)�	∃
��������
<���������+��∗�
;�	�∗∗�
+���+��
���
�∗6		�
Β

�����	������

5����	�0
�� �Θ+��∗	�
Θ� ��
 � ���∃∗2��		� � ���� � ��
+���
��
���
���	��+����+��������5�����∃
�5����	�0
��
�26��#���
��
Α��	��
��
�8�
����∋<��59���������
��∀��+��
��������	�������
?��� � ∀��+� � 	���� � ��+�� � 26� � ��
� � �
���� � ;�22��� � ��� � �
�
1��∗∗��
��
����+�
��3�
�2��+����+����
�&∃����
�+����
��
�
<����	����	�������
�
����∃
�)������
��

5���Β� ∀��+��
�Β

��∋�Ω +���
����∃����+���
�8�∃��9

��#Ω +���
���	
���������∃��8�∃��9

,�)���

��∃��
���		�
���
����∃∗�
����
���
��3�
���
��8���
���		�
��
���
�9�7�		����
<������7�

�
�����������
���������∗�∋<��
+�	�∋<!���������������
������
����
�3�
���
��8�7����
���
�9�
��		�
 � 	�� � #��
�
 � ���∃∗ ����
�< � �	 � 	�� � ��

< � ��� �/��
��
	7�

�
�������6+��	
������
����
��Ρ+��	
������
������/��
��
	7�

�
��26�����������
�	��∗∗�������;��	����
��������∃����

����)����
�
�
��������∃��
��	����2���∗�1��7�����2�����
#�����∃��
�
∗6		�
��
���
���+�	��∗∗��
�3�
���
����
��+���������
������	�
��∗���
��
�∗�3�
����#�

���
�
��<��������
����
���		��
���
����	���
�����∗�
�
�����
����	������	���:�2���∗�)�	�6
#�
�	���
#��	�����	�	������	������

��������



����	
� ����

#�����)�−�∋.)����	��)����

���#��∃�Κ��1∃
��
	��∃��
 � 8#��� � Θ��#∃	Θ9 � �����
 � ∃2� � ����
�7��
����
� � �∃
 � �
����� � ��
��	����� � �∗ � /���
	��� � ���
#���∗�	
��
 � 1∃
��
	��∃��
 � 	�
� � 	�� � ��7∃��� � ��
�� � ����
+����
 � :
	
��6		� � �	� � ∗�� � ��
�∗ � >�
�	�;��
��
�
��#�

���
�
��<���	�������
+����
���
���∃���+�������5����
�	����2���∗�/��0�	����2�����
#��

��#∃	�	�
��∗����
���	
������
��
��7�

�
�	2�	���#����
����0����
�������
��
	��� � ��
�	 � ��#∃	 � ∗�� � ��
�� � ������
 � �7�

�
�	2�	���#��� � �	��
7�∃+��∗�∃	�∗����
��

∃���	�	�)���

&��
	�	�∃��
 � 	�
� ����∃∗���	�0�#��< � ��� � 	
���
�� ����
��� � �
 � 	�0�#����
�∗��
���
��������+�
������:
	
��6		������	�����7∃���	�
�<�∗6		�
�	���
�
���
���+�	��∗∗��
�3�
���
����
��+���������
��

����)��&Κ7�
���+�
���
�2��
��	�/��0�	��8&Ι�/��0�	�9<�
��		�
 � �∃����	���� � ��
�
 � :�2���
# � ∗�� � ����
&Κ7�
+����
�
�
� � ��0��� ���� �36
#	���� � �	� � �
+�	
���2���<�
�∗�)�	�6
#�
�	���
#��	������36
#	��������
����
�
���
#����
Α�
��������	�������

���������
��	��

�
 � ��� � =����
�
+�
�	�
 � #�

�
 � ��� � ���� � ���+�������
 � �<( � ∗∗�
>∃����+��
	��
#�����	��
#�������
�����������
��������+�
��
��∗�������
���∃∗Η����� � �
� � ��∗ � :
	
���		 � 
�
���	
�������� � )��	���
� � ∃����
)����������
��	������

��������



%

���� ����	
�

/
	�������


���������(��∗

��∃��
< � ��#∃	 � �
�&��
	�	�∃��
 � ∗6		�
 � �
�	7��
��
� � ����� � =∃��
��
��
��+���������
ϑ� �5�

��������	��)�������� 2��	
����7∃�� ���
����
<�
#�

 � ��	 � +����22�
�� � )������ � +�� � �
+�����+
��∗� � ���	���� ������
��
�
���∗∗	��
2���	�#�

�	∃����������	�∗���)��	���
�+�	
�0����������
��
�
�Μ���∗�∀�����	������)��	���
�∃�
��∀�
#��∃
�

)���

�
 � ��� � ��
 � ;�	�∗∗�
+�� � ∗�� � ��
 � 5����	�0
��
 � �
� � ��
�
��∃��
���������
�������
0
�	������)���������∃
�����Α��	������
�����

�
�
������� �6+��	����
��
�������
��
�∗�� ���
�∗������
	
�
����� �#
�77�
6+�������Α��	�������+��

∀����
�����∗�����
�=����
�
+�
�	�
�2∃����

Α���
�������

�����&��
	�	�∃��
��
����
���#∃���
��

#����(��������
����
����������

∀6���
 � ��� � 
�
� � ��∗ � ;�	�∗∗�
+�� � ��
� � ��
��7�62�
� � ���
� � �
��
+�	������
�������2���∃���
��
��>0
���Β�

� �
�2��
�
��������� � �∃	�
�&���� ���� ��������	���∃��� �Α����∃72�
 ���	�
��∗�)��������)�	������
�����	
���2��1�
��
�∃����	7�����������
��
��

� =�62�
 � ���< � ∃+ � ��
�� � 
�+�
��
�
��� � �����
�� � Α��	�����
�
�
+��+	�
������∗����
�
�������+�
��
�	�
���1���	
���		��2���ϑ�

� =�62�
����<�∃+������&�������
�������7∃���	�
��

5�

������>0
����+�	�������	�
�<�����
�������∗�
0
�	��
�=�
#��6+���

��������



%

����	
� ����

,����
�������
	
����−�


)���
�������
��
�������	�0�#���
∃
��
�
�� ��
������:
�������
��∀6���
�
������
0
�	����
�
�∀�
#��∃
	��	��∗�����
���&�	��5��
������
����	� �	��
�∗72����
	����< � ��
 � ∀�
#��∃
	��	� � ��
� � ���
���26���
< � ��

 � ����
��
�
�∀������)��	���
����∃�+�
���+�
��


�	���
		���	�(�����0��	������	

�
����−�
�������
��
�������	�0�#����
�	7��
��
����∗�:
	
���		7��
���
8∀�����9��
������
�
�2∃���
���&�+������
�

5�� 5��
��
	7�����

5� /�∗��
	�∗���:
	
���		�����+����
�5��
��
	7���
�

5� 5��
��
	7������

/Γ�� )���:
	
���		��
�5�
�	��	7�

�
�Β�

=∃�����0��
�
����∃
�
)������
�

)���:
	
���		��
�/���
�	7�

�
�Β�

Θ�Θ�����
�7�

�
�	���	∃���
�

�.. )���:
	
���		��
�5�
�	��	7�

�
�Β�

=∃�����0��
�
����∃
�
)������
�

)���:
	
���		��
�/���
�	7�

�
�Β�
ΘΝΘ�����
�7�

�
�	���	∃���
�

��<��� &�	���<��
����7���<��
��������	�∃�0�
�

���������(��∗ �:
���
��
�������	�0�#�� ��6�2�
�#��
���������
�
���+���
��� � �
��	
��∃		�
 � �����
� � ����� � ∗6		�
 � ��� � ��2� � ����
)����
���
� � �
 ���� �5��
����+���

�
 ��
�������

� ����	∃���
� �)���
�
+�����+
��∗������������
�������	�0�#���	∃
	�����	������

��������



%

���� ����	
�

1
����)�	��	�

���+�
��
�����#��������������)�
�	�
�Θ/Γ�Θ��
��Θ��Θ�∗����
�
���������
5��
���	∃�����
�
��∗	
�����
��5�

�����5��
���
�
���	
������<�#�

��	�
	��
<���		�����5��
����
������
�	7��
��
��
�������
���	���)��
��
�����
����5��
����∃
�4�
���
������
�����������
���
�����	�
��
������	�
∃
��
��
∗��� � ���+�
��
 � ��� � 
�
 � Θ/Γ�Θ �∗�� � Θ��Θ� ���� �5��
�� � 	∃���� � 
�
�
������ � �∗	
�����
� � )��
���
 � ���Β � ;��	
��
 � ��
 � +����
 � �
�����
�∃��0
��
 � ∗�		 � ��
� � ��	���
��
�� � ;��� � �+�������� � �����
 � 8
���
����#�9<���∗�������1∃
��
	��∃��	�
�����������2����
�#�

��

���������(��∗ �5�

���
�)����������−�����<����

�
���� �	)�)���
��
 � )��	���
 � �∃
 � ��� � ���	∃���
�		7�

�
�� � 1���	
���		��2���ϑ�
1∃
��∃������
�������
�:�2+����

Γ�
� � ��2∃�����
��∗ � :+	
���		 � ��	 � ∀�
#��∃
	��	��	 � ���

�
 � ��� � ��
�
�
�������	�0�#�����������∃
��������	∃���
�		7�

�
���)���
�������
�
�������6
	
����
�������>∃����+��
�
�������
��

������2������	�(������������������������

����#�

�
�∗�������5��
��
�����
��������	
�����
<�����Μ�����	��
���
�
�
����
�
��
�������	�0�#����
��	
��∃		�
�	�
����
�����
�����������
�0
���
�����
�������	�0�#�����∗��
	�∗�6+�����
�
�&�	���<���
��
����7���<���
�
�
��������	�∃�0��

)��
���
�����:
	
���		7��
���8∀�����9ϑ�

��������



%

����	
� ����

!��.��
#��	�������∀�����	�
��

� )�������������
����−��
��≅�∃����2�
��
��
����Η���∗�
�

���&��

�
�����	∃2∃����������+�
��
���������	∃���
�		7�

�
�ϑ

>����
�� � Χ�	�
��Β � ��
 � ∃��� � ∗������ � )������� � 	�
� � ���#�����
��
�����������5�

�������
�)��	���
���	���
�∗�)��	������2��+����
��+�
< � 26���
 ���� ���
� ���
��7�62�
�����
� � 8�� :+	
�
��� �(�9 ��
��
+���+�
�������2������>0
����� :
���
2���	�	�
��
�������
�)��	���
�
����3�7���������
�

� ������∗�&�	���
��	
��∃		�
��5��
����0		��	�
��
�
���	
�����
��

>����
�� � Χ�	�
��Β � ��� � �7�

�
�	���	∃���
� � �	� � 
�
�� � #∃���#��
�
��	
��∃		�
����Ρ+��7�62�
���������:
	
��6		��

>����
�� � Χ�	�
��Β � ��� � �
��	
��∃		�
� �5��
�� � �	� � ��2�#�� �Ρ+���
7�62�
���������5��
���

∃�����	����3)�����

)�� � 36
#2����
 � ��∗ � ��
	��� � ��	 � )��	���
	 � ���2� � ��
�
 � �
	����
&�
�
�	
�� � 4∃���
� � 8&���2∃

�∗∗�� � �
� � >�������		� � 	� � ��
�����
Χ∗	
����	����9��

4������
���∗���
�
���2�#��
�)��	���
�#�

�
������
	�����3�7�������
��
	
��
#�
�8:���		��	����
�����Χ∗	
����	����9���∗�/���
���2�����	������
3�7�������26������#∃	��
�∃	��)����
�0��
<�����
�
����
��������/���
����
2����
<�+���
�
�
�����26������3�7�������∗�Λ�∗���������22���
�����	
��
�
∀������)��	���
 � �
� � )��	��� � ���� � �
	���� � �6�����
 � =���	��	��� � 5���
+������
 � �
	 � �∃�< � ��� � 3�7������ � ��
�	 � )��	���
	 � �+�����
�
< ���

�
���	����
�
�	
��
�
���∗����
��∃�����
����	
��2���
���	���

)���� � 	
��
#�
 � ��� � �
	 � 3�7��������
	�
��
��
 ������� �
2��� � ��� � �∗�
/���
���2��� � ��	����
 ���� � ��
�
���� � �����∗0−���
 ����	�
�#∃	��
� �)���
3�7�������
<�����
�
����
��������/���
����2����
<������
���������1∃	��
�
26��4�
���
��36
#	�
��
���

�������(



���� ����	
�

%��/���
�����#�0��
�

∀6�����	�	�=�∃��#�����0���
�����2������������?�����/���
�����+�1��2�
����∗���	���	�#�
��
<�∗�Λ�∗���Μ��∃
����?�����
�
���
������������
�
���	�����
����	�=�∃��#��	����	�#�
����	���������+���
���<�������	���	��	�
��	�=�∃��#�����∃�+�
������∃
��
	<���
�∗�40
�����∃������
����
����
�

��6���
��
�∃����Μ���	��	
��
�=��	∃
<�������	�=�∃��#���∗�3��∗�
�������
	��+	�0
����
�+���2��
��
�&0���#��� ������� ����#��2� �∃������
+���������
/���
����+�	�����
�+�
���
���	�����
��
�/��0�����	��
�	�
	7�6
��
<�
������∗����+���
��������
6+�����∗����#0�2�����	����
�

����Χ∗2�
������/���
�����∗2�		������#∃	��
�∃	��)���+�
������>0
���<�
����
�
����	+�����2��∃
��
	������+������	<�
�
�����
��
�2����	�>��������
∃��� � ��2 � ∀�+��#���∃
	2����� � ���6
#��26���
 � 	�
�� � )�� � )��	0���
�
6+��
��∗�
���������/��0���26�������∃��	�0
���#��� ��
����
��
�2�����
)�	
��22�
���������)�������<�	∃������
����
�1�

�����
��
�	7��
��
���
∀�
#��∃
�����)�����∗�
����
��
��
��+����∗�;�	��
���5�������
�����
�
������
�����
��������
�
�	
��
�����
�+����
�	7��
��
������:
�����
��
���
���26����∗ � :�2+�� � ��	 � )��	����	 � �
� � ��
+�� � ��� � 2������
�
�
�����
��	∃�����∃���	
����+�
����
+�����+
��∗���
��)�����+	���	��

5���+������
��
	���
��3�7������< �Γ�
�+�		���
�<���	������2���
��∃����
36
#��	�����
����	�1��27���	�	��∃���5���������
���:
	7�6
���	�
����	�
��	
��∃		�
��:
	7�6
�����2���	�����∃
�∀∃���	
�0��
�∃������	�=�∃��#��
��2��
��+�	����
�
���
�
��>�−��+��������	�����
��
��∃�	
���2��
�

�∃���		����
��26������5��#	�∗#��� ����	���/���
���� �	� �������
�����
��
����)����
�
�	�
�����
�������/���
����
	7��
������	
������6+����
��	�
�
�2∃���
��
�∀0���
Β

� +�������
∗0
�������:+0
����
�������
�����
�<�

� +���3�7���������	�
��
��∗�∀������)��	���
�∃����∀������/��0�<

� +����
�0��
����
����
���22��2��∗����=��	∃
�
<

� +���∀���+����
�
��∃�����
�0��
����
��2����0		����)���
���
��∃����
>�		+���
���

�������,



����	
� ����

�∋���/�1∃
2∃�∗��0�	��#�0��
�

���	�	 �=�∃��#� � ��26��� � ��� � ∀∃�����
��
 ���� ��/�3�
����
���
�∋∋�≅�∋!≅�/�6+������#��∃∗��
���	
��������0���
�#��� ��
��
��0�������26������.��1�

���
�
�
���

�	��������
�	7��
��
����
����∗∃
�	�����
����∃70�	
��
�Γ∃�∗�
��Γ�
��∋������
���Γ�(�∋∋∋�(����
���
#�����
����7�62����

Χ∗ ���� � ���#��∃∗��
���	
�� ������0���
�#��� � +��∗ �)�����+ � ��2��
�� � ���
�������
<�+��
���
���������2∃���
��
��∃�	�
��	∗�−
��∗�
Β

� �
����−�
�������
����	∃���
�	���
	2∃�∗��∃��
����
���
��2�
�����
���
�
	�����������
���+��	�
�������
��#∃	��
#�∃	���
�

� Γ��∗�
�����#��
�����0
����
��
��
���
�Ι����
���)�������
��∃���
��
+�2∃���
 � ��� � ��� � 4�
���	�< � :
	
���		� � �
� � )�	�6
#�
�	7�0
� � �
�
���	���:
�����
����
���

� �����
��
�����+���3�7��������+����
�
���Ι����
�����	����������

������#�0��
��
�����3∃4����
��5����3�
����
��

���	�	�=�∃��#����26��� �����∀∃�����
��
������Χ�3�
����
��
�
�∋∋�≅%(≅�/�6+������#��∃���
�����#��∃
�#�:�����0���85���9�
	∃��� � �∋∋�≅%�≅�/ � ��� � )�	
��0
#�
� � ��� � �����
��
��
+�	��∗∗��� � ��20����
��� � ��∃22� � �
 � ���#��∃� � �
��
���#��∃
�#���0��
�83∃4�9��

��� � &�∗	 � ���#��∃
�# � /∗+4 � �	� � ��∗� � Σ( � :+	� � � � ��	�
����	
��
 � ���#��∃�/�	����	 � +�� � ��� � ����26� � ��	�0
����
�
���2��
�����#��∃�:�����0���3���	����8�:39��
��������5����
Γ�∗∗�������,!�,�∋(�����	��������

�
�	∃���
��������	��=�∃��#��
�
���6+�����
�8�
	∃�������
9�4��	∗6��<�
	∃
���
�26���
������	�����5�������������
������

�������!

�
�
��
,
!�

,
�
∋
(



����

�����	
���
�
�����
	
��
�
������	�����
�
����	
���

�
���������
�
���
�����


���
�������
�
�����������

�  �!
Ω 
��∀
�#∀
�∃∀
�%  
�Ω

&
����
�
&
���� &  �∃!!∋∀
∋(�)))∗

&�∀
&#  �∃ ∃+


,	���
�
,	�����	−�
�
��.��
����


/������������
�	�����	−�
0���

,	��1�

/ ��!!
23∀
4
�%
�

5����
������
�
5����
���� 6 ∀
6� 7&
8+!

�	��
���9��:���
�
�/7
�������


&��
		��
.���
�
���
��

�.�
���


��
��9�����


















;�&∀
� ∀
��∀


�//∀
� ∀
��∀


�#

�∀8
��

3
<)
 =
 7��������<�.	��
�
�/7
	�−���



�	��
�1
�.	�����
��
�
��
��.	��


��
��
>



����

3
<)
�=
 ?���:	���.	��
 
�
/������
���
 

��:���
��
9����:�����
 
�

?���	�
�
.	��
 


� �.�	�
 /�
	
 
 ��	���≅��
 �
���	�.��	
 

�� ;���
������

Α�
���

/�����


�������
��



/������
������
 ;�������:�..��

	
���
����	�
�
�<

�# �.�	�
� /�
	
�
 ��	���≅��
� �
���	�.��	
�

� 5�����∀


��:�	�.�	�∀


��:�	�<	�
�


����
�:�	
�:

���:
9�����∀


������	
.���	∀


�
���
�
�����


��
�
�
	��

7�����
.�����
�∀


.�.
���
��


��������
Β


��������
∆�<
�
∆�∀


��
	
��


��	���������∀


���)

&������.∀


��:���	9	��∀


��:���	��
	∀
��Ε)


��

��
��
>>



����

3
<)
#=
 ?���:	���.	��
�
�
/������
���
�

��:���
��
9����:�����
�
�
?���	�
�
.	��
�


��
��
>>>



����

3
<)
∃=
 ��:�	�.	��
�
/
���
�
�
�<���


��:���
��
.�
��
.�
�
��:���	��:���



��
��
>�



�

�

����������	
��
����	�	��	��������

�	
��
����	��	�������
�

�	
��
����	�������	������

���������	
��
������	������
�

�������������
���	��	���� �

�

�

����	�����	����������

�����	����	����������
�

����	���������������

����	�����	���������
�

��
�� ������	����
!∀ �

#���!��∃�������%��&

∋ �()∗+,�∀�		����
�


�	��−&.�/)0,11���,,�∗)�∗)


�2��−&.�/)0,11���,,�∗1�∗1
�

��
�����
�����!��	3��
���	��	����
�

�

∋
 
�(
45
&4
+)
∗

http://www.tams-online.de/

	1. Einstieg
	2. Sicherheitshinweise
	3. Sicher und richtig löten
	4. Funktion
	5. Technische Daten
	6. Den Bausatz zusammenbauen 
	7. Den SV-2 anschließen
	8. Checkliste zur Fehlersuche
	9. Garantieerklärung
	10. EG-Konformitätserklärung
	11. Erklärungen zur RoHS- und WEEE-Richtlinie
	Stückliste
	Fig. 1: Bestückungsplan
	Fig. 2: Anschlussplan 1
	Fig. 3: Anschlussplan 2
	Fig. 4: Schaltplan

